
Notice de Montage
Gebruikershandleiding

Benutzerhandbuch
Manuale dell’utente
Manual de usuario

Pуководство пользователя
Użytkownik manual



Support Beam+4 M6*10 Screws-Qty 1



M6*10 Screw 2 PCS

M6*10 Screw 2 PCS



5MM HEX SPANNER

M8*10 SCREW 8PCS



M6*16 SCREW 8PCS GASKET 6 8PCS

5MM HEX SPANNER



4MM HEX SPANNER

M6*12 SCREW 4PCSRUBBER CUSHION 10PCS





EN:RIGHT- OR LEFT HAND INSTALLATION POSSIBLE
FR:MONTAGE POSSIBLE A DROITE OU A GAUCHE
NL:RECHTS- OF LINKS HANDIGE MONTAGE MOGELIJK
IT:POSSIBILITÀ DI INSTALLAZIONE A DESTRA O A SINISTRA
ES:POSIBILIDAD DE MONTAJE A LA DERECHA O A LA IZQUIERDA
DE:MONTAGE AUF DER RECHTEN ODER LINKEN SEITE MÖGLICH
RU:ВОЗМОЖНА УСТАНОВКА СПРАВА ИЛИ СЛЕВА
PL:MOŻLIWOŚĆ MONTAŻU PO PRAWEJ LUB LEWEJ STRONIE.



EN:DO NOT USE ST4.8*19 SCREW FOR TABLE TOP THINNER THAN 20 MM
FR:NE PAS UTILISER DE VIS ST4.8*19 POUR LES PLATEAUX DE TABLE D＇UNE EPAISSEUR INFERIEURE A 20 MM
NL:GEBRUIK DE ST4.8*19 SCROEVEN NIET VOOR TAFELBLADEN DUNNER DAN 20 MM
IT:NON USARE ST4.8*19 VITI PER FOGLI TABELLA DI 20 MM
ES:NO USE ST4.8*19 TORNILLOS PARA HOJAS DE MESA DE 20 MM
DE:VERWENDEN SIE KEINE SCHRAUBE ST4.8*19 FUR TISCHPLATTEN MIT EINER DICKE VON WENIGER ALS 20 M
RU: НЕ ИСПОЛЬЗУЙТЕ ВИНТЫ ST4.8*19 ДЛЯ СТОЛЕШНИЦ ТОЛЩИНОЙ МЕНЕЕ 20 МM
PL: NIE UŻYWAĆ ŚRUB ST4.8*19 DO BLATÓW O GRUBOŚCI MNIEJSZEJ NIŻ 20 MM

M6*16 Screw 4PCS
ST4.8*19 Screw 8PCS

ST4.8*19 Screw 2PCS

ST4.8*19 Screw 2PCS

or

220mm

200mmM6*16 SCREW 2PCS
+

ST4.8*19 SCREW 2PCS

+

M6*16 SCREW 2PCS
+

ST4.8*19 SCREW 2PCS

+

OR

OR



INOUT


